Ground Pivot Specification

(eia2é3 ) eia3é2)_ @l (és ) eia3l§])+eib3 (l‘éQ ) eiaQ,‘é])
= (e“e”ﬁ3 - eiaﬁl§2)+ e (e®™R - R,)+e™ (I§2 - e““ﬁ,)
= Ae"™ +e™Be" +e™ Ce'

= Ae 4+ Bei(b2d:) 4 gailbstac)

Finding A

eia2§3 3 eia3§2)

Rs, iR, )(cosa2 +isina,)- (Ii’2x +iR,, )(c:osa3 +isina )
Real:

R,;, cosa, - Ry sina, - R, cosa; +R, sina;=A,
Imaginary

R;, cosa, +R; sina, - R, cosa;- R, sina; =A,

A :\/WDTOWEQ%%

x @
Finding B
e®R, - I§3)
R, +iR, )(c:osa3 +isina)- (R3X +iR3y)
Real:

R, cosaj- R, sina,- Ry =B,

Imaginary
R, cosa, +R, sina; - R, =B,

B :\/BXTBfDTon"g—Y%

x @



Finding C

éz = é]elaz)
R, +1R2y)- (R]X +iR, )(cosa2 +/S|na2)
Real:

R,, - R, cosa, +R, sina, =C,
Imaginary

Ry - Ry cosa, - R sina, =C

C=,C/ +Cy2E)’ron"§:C—yg

x @
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Solving the non-linear part of the problem-i.e., solving for b2 and b3 first.

iga idg /by ide aibs —
Ae™ +Bee™ +Cece

AeiQA + Bei(b2+q{3) + Cei(b3+qc)

Real

Acos(a,)+Bcos((gs +b,)+Ccos(ge +b,)=0
Imaginary

Asin(g, )+ Bsin((g, +b,)+Csinfg. +b,)=0

Square Real and Imaginary and add

A2 coé(a, ) +B? coé((q, +b,)+2ABcofy, )cosl, +b,)=C? cog(q. +b,)
+

A’ Sir12( A) +B° Sinz((% + b2) +2ABSir(QA)Sin(QB + bz) =C* Sinz(QC + b3)
Az(cosz( A)+Sin2( A))+BQ(C052((qB +b2)+5ir‘2((% + bz))
+2AdC0£qA)COS(qB + bz) +Sir(QA)Sin(QB + b2)) =

c (Cosz(qc + b3) +5ir‘2(qc + bs))
A? +B2 +2ABco$F (g, +b,) £q,)=C



Solving for b2
&?- A?-B%0 -
s ol +b.)xa,)
L2 A%-B2O
cos gTé: +(QB + b)z 14,

&*2_A2_BQQ

b, =+cos™ >-q, +q
’ & 2aB 5 Jo s

I+



